7|2H8 |X[E(%)
H4EY oF x| Zx FojY | wof ofF | |fX|Hx | 4ERE
14 314 514 74 104
HIMZAE AAY 15 | FBCOILEC | 20010205 | WOIEX | 12504 | KEY 86.62 52.49 87.83 86.30 61.67
A=A oY 13 | QWO EC | 20010205 | HOREX| | 16,213 oFE Y 86.44 54.59 81.93 81.11 75.82
I XZAE OFYE 25 | WO EC | 20071024 | TOHERX| | 28,562 o s 93.02 88.75 98.63 93.08 85.18
IO XZ=AE M HS 1S(TSILY| DO ZE | 20010205 | TOFEX| | 4,257 L - 71.49 75.92 55.90 53.57
I XZ=AE OPY 15 (8L SBOFRZE | 20010205 | TOEX| | 3,870 RSk - 71.49 75.92 55.31 58.20
X FAE MEH(FMS) | YBCR2E | 20010205 | ZHOHEX| 184 HHEH - - - - -
< AETIE >
b QARG FAAMORLE 1,357, 108 M S FAR( 1-12. 31| MAAUS 5 TSINEINK KXED Y AAUS U

—
*RRIE AMA EMAIZRE OHE2 A o2 Zedtn EALZ O El A of2 X2

Lt (OfA) 2012. 9 & XY 107 ASF /A=
- (A) 20021 (1. 1~12. 31)2| Al A2k : 1,000A
- (B) 2002iA(1. 1~12. 31)0ff EfALZFE] O] &2 A 7= 1 100A
- (O (A+B) & 2012. 92 TMHX| EfALR O & AlSf A== - 30
- (D) (A+B) & 2012. 9& L7HX| ShX| & A= - 200A
= QX|& = (A+B-C-D) / (A+B-C) = 870 / 1,070 = 81.31%
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* 2O|Absl A2t : 02-2002-2263, 02-2002-2250



